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Probabilistic Models  

 

SS = ZdLT  

 

ROP =  LT × d + SS 

 

ROP =  LT × d + SS 

 

ROP =  LT × d + SS 

 

 = P(X > 𝑅𝑂𝑃) =  Probability of stokout 
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dLT = √LT × d  

 

dLT = √d2 × LT
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Project Management 

 

EF = ES +  Activity time 

 

LS = LF – Activity time 

 

Slack = LS – ES  = LF– EF 
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Waiting Line Models 
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P(n > k) = k+1 
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Scheduling 
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Utilization =
timeflowTotal

timeworkjobTotal
 

 

 

Average number of jobs in the system =
timeworkjobTotal

timeflowTotal
 

  

Average completion time =

jobsofNumber

TimeFlowTotal
 

 

Average job lateness =

jobsofNumber

dayslateTotal
  

 

 

 

Capacity and Constraint Management 

 

Utilização da capacidade =  
Atual Output

Design capacity 
 

 

Efficiency =  
Atual Output 

Efective capacity
 

 

Capacity =  
1

Cycle time
 

 

 



 

 

 

Statistical Process Control 

 

𝑈𝐶𝐿𝑋̅ =  𝑋̿ + 𝐴2 × 𝑅̅               

𝐿𝐶𝐿𝑋̅ =  𝑋̿ − 𝐴2 × 𝑅̅   

𝐶𝐿𝑋̅ =  𝑋̿  
 

𝐿𝑆𝐶𝑅 =  𝐷4 × 𝑅̅   
𝐿𝐼𝐶𝑅 =  𝐷3 × 𝑅̅   
𝐿𝐶𝑅 =  𝑅̅ 
 

 

𝐶𝑝𝑘 = min(𝐶𝑝𝑘𝑖; 𝐶𝑝𝑘𝑠) 

 

𝐶𝑝 =
𝑈𝑆𝐿 − 𝐿𝑆𝐿

6 × 𝜎
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3 × 𝜎
 𝑒   𝐶𝑝𝑘𝑠 =
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3 × 𝜎
  

 

 

𝑈𝐶𝐿𝑐 =  𝑐̅ + 3 × √𝑐̅   

𝐿𝐶𝐿𝑐 =  min ( 0; 𝑐̅ − 3 × √𝑐̅ )  
𝐶𝐿𝑐 =  𝑐 ̅
 

 

 

 

 

𝑈𝐶𝐿𝑝 =  𝑝̅ + 3 × √
𝑝̅(1 − 𝑝̅)
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𝐿𝐶𝐿𝑝 = 𝑚𝑖𝑛(0; 𝑝̅ − 3 × √
𝑝̅(1 − 𝑝̅)
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𝐶𝐿𝑝 =  𝑝̅ 

 

 

 


